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Q%=3.0, W=3.14, t=(0.17-0.36), 4t, 15¢
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Q?=3.0, W=3.14, t=(0.17-0.36), 4t, 15¢ i=15
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Q%=3.0, W=3.14, t=(0.17-0.36), 4t, 15¢
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Q%=3.0, W=3.14, t=(0.17-0.36), 4t, 15¢

Unseparated Cross Section [nb/GeV?]

Unseparated Cross Section [nb/GeV?]

60

50

40

30

20

45

40

35

30

o

L ——Low €

I 4 t=0.200, Q2=3.0, W=3.14 —&-High €

IIIIIIIII

%

v e Ly 1y

200 250 300 350
@ [degree]

I SRR B R |

100 150

——Low €

IIII|I

-~ High &

t=0.290, Q2=3.0, W=3.14

|Il T

TTTT
—t

HI{

ITI|HITIIIH|IIIIIIIH|I

A0 1

150
@ [degree]

M a1 1
100 250 300 350

Unseparated Cross Section [nb/GeV?]

Unseparated Cross Section [nb/GeV?]

C ——Low €
35 )
© 1'\=0.250, Q2=3.0, W=3.14 —o-Highe
30— T
25—
20—
15—
10
51— $
NIRRT P ETE R IS N |
0 50 100 150 200 250 300 350
@ [degree]
= ——Low €
35
% 1=0.335, Q2=3.0, W=3.14 o High €
30:*
25— :i
20— %
15—
- o
10 5
5
oE- R PRI/ BTN BT N BT A B
o 50 700 150 200 250 300 350

@ [degree]

Higher t-bins much
worse



Q%=3.0, W=3.14, t=(0.17-0.36), 4t, 15¢ i=15
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Q%=3.0, W=2.32, t=(0.40-0.75), 4t, 15¢
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Q?=3.0, W=2.32, t=(0.40-0.75

), 4t, 15¢
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Q?=3.0, W=2.32, t=(0.40-0.75), 4t, 15¢
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Q%=3.0, W=2.32, t=(0.40-0.75), 4t, 15¢
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Q%=3.0, W=2.32, t=(0.40-0.75), 4t, 15¢

Unseparated Cross Section [nb/GeV?]

Unseparated Cross Section [nb/GeV?]
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Q?=3.0, W=2.32, t=(0.40-0.75), 4t, 15¢ =5
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Q?’=4.4, W=2.74, t=(0.40-0.75), 4t, 12¢
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Q?’=4.4, W=2.74, t=(0.40-0.75), 4t, 12¢
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Q?’=4.4, W=2.74, t=(0.40-0.75), 4t, 12¢

Unseparated Cross Section [nb/GeV?]
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Q?’=4.4, W=2.74, t=(0.40-0.75), 4t,
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To Do
( Reanalyze... \

o Q%=3.0/W=2.32
o Q%=4.4/W=2.74
o Q?%=5.5/W=3.02

o Q%=2.115/W=2.95
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\_ o Q*=3.0W=3.14 J

3. Full SIMC runs with new functions and parameters for all settings
4. Full Replay for all settings

www.GrabCalendar.com

5. Finalize systematics study (~70-110 days)

Finish up by Hall A/C meeting




